Zum kleinen Einmaleins

Aufgabe 1

1 6:2= 0O 3 O * O 6 O 9
2. 30:10= () 3 ) 8 2 o9
320:10= (O 1 o9 6 2
4o20:.5 = () 7 6 O 4 o1
5. 2.2 = () 1 O 4 o6 ) 10
6 2.1 = () 6 ) 10 ) 8 o2
791 = () 4 o2 o6 o9
Aufgabe 2

. 1:1w0= O 6 O 1 O W O 5
216:2= O 2 O W0 O 1t O 8
510:1 = O 4 O 10 O 9 O 1
Lo8.2-= 0 6 O 8 ()9 () 4
5 2.2 =0 9 O 4 ) 5 o1
6 7.1 = () 3 o7 o6 ) 5
741 =0 9 O 2 ) 4 o7
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Kernaufgaben uben [1] | ANTWORTEN

Zum kleinen Einmaleins

Aufgabe 1

1. 6:2=E O 0O 6 (O 9
2 30;10=E o 8,0 2 |0 7
sowi0= 0 1O 9% O 6 (@ 2|
4.20:5 = () 7 o6 O
5 9 2=|I] ) 4 6 () 10
6 2.1 =0 6 (10 () &8 |@ 2
91 = () 4 O 2 6 ® 9
Aufgabe 2

1 10:10 = ) 6 @ O 11O 5
2. 16:2 = (O 2 10 o1
3.10:1 = O 4 o9 1
4 8:2= 0O 6 O & O 9 |@ 4
5 2.2 =0 9 O 4 ) 5 ®
6. 7.1 = O 3 E] O 6 () 5
41 = () 9 2 o7
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